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V(X) = E{(X - E[X])"}
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V(X +c¢)=V(X)
EHEDREIL, HLEDTEUERD2FEH
[T1=tDEZFLLY

V(eX) = c*V(X)
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D(X) = /V(X)
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oy = E[XT]

HIFHEE DY DrROFEE:
vy = E[(X = BEX])"]

STORBDEREETT NIE, RS

BICRETHIENTES

54



G ESSTE %5

52 8% (moment generating function): £T®
R HBOBERZTERRT HEABMGEHITRR—D)

> e f ()
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X _ - (X)? | (X)7
e T R
g(t) =€
: ; : g\ (t) = XTetX
mADHAFIEZRNIL,
X g (0) = X"
Mx (t) = Ele™”]
E[X? E|X?
= E[1] + tE[X] +t° X7] -t X7 |
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Mx(t) =1+ ut + ’;?tQ + §?t3+
Mic(t) = ju + pot + 5167 + 5267 4
M%(t) = po + pst + gft? + ’gft?) + -
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A Vie) =0
B) V(X +¢)=V(X)

C) V(eX) =V (X)
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V(X) = E[X?] — (E[X])" = p2 — 111
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